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S taee 1 Shih -l .h & At

:0n € Yw nv¥paip Y5 nY¥Im@ NIWKOT N3P

_myfunc PROC NEAR
push bp """ bp -ww
mov bp,sp "1 bp Yy yaxm bp
sub sp,k 0 %% pvanwm now nrypR
o Ypabn ovanemn nve YT XA K
novIn DY bp NIYEBX3 DAYYR Nwab INv3Y @ pvep DTYPPIYN DvINeBE AT YATn
LRI L IXD IYUBYY DR BYUBIVIRA DU IMen? YINnR NTIPD @YY a31vH2 .nvYhw

WO NIRIY 1wy 7-3 vea 16 D733 umvIr - P b nanom bannx

mov word ptr [bp-6],7

RWT DRYPR nca3n®  (AVXPIILT MDD TURER) 12 NXIT U¥PIIDN WKD
(7R3 NYTIPET NITO DR NYEIN

mov sp,bp @Y %p1% prinum mow W

pop bp bp e

ret nXMP n¥331n% M
_myfunc endp
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72 *%%> 1DIR3 NUR3 SMALL Y7ina € nvpatd Sw ovanwnn nmdo av5Y

800h nawna
{———— s5p
n~5pw$ o*Inen
. bp - offset
old bp ¢———— bp
old ip
a* R
bp + offset
1000h na1ns

W3 X ovanwn Yy Pazdw) main avypiven ,call_idl.c nra>wna ,xmanTe
TIP3 @YW DY 9P DYanwmn (MnR TYypatD 7

int Num, Denom, Q, Rem, No Zero Divide;
-5 oansn

sub sp,10



LyiDa WRD

No_Zero Divide [bp-10]
Rem [bp-8]
Q [bp-6]
Denom [bp-4]
bp - offset
Num [bp-2]
OLD bp <——— bp
oLD IP

anx> by, idiv_mod 73°©17? nybynonn ¥aa3 nviomon by Yanoy bR Javpb
,call near ptr _idiv.moed 7IpOR ¥IX°2 1Y ,NYI0MBI DYIWHTIBA NIY
' 179 DRI N aohmn

Num 19
Denom Ty
Q namo
Rem nasnd
No Zero Divide [bp-10]
Rem [bp-8]
Q {bp-6]
Denom [bp-4]
bp - offset
Num [bp-2]
OLD bp <—— bp
OLD IP

:C Yv by value parameters awIni @13 A0YI I¥ D*RIT INIKR XD
DYpRIY 0°%vonn naveInY n¥PILA (NVI0NR3) INYR NUw awsn? O DYIOPIEN
TI9K 12103 NI 1IN NBIST  LNSMIPHR MR Y oranent v niswnn
NIt 37 pHIY3 BRI APYA L NRTPR NYI5wWR Y oranwmn 'O9Y nR Mwm
Yoy pesnw tma Y92 NRIDT MK WY L (N1 RIIIEA RY2IN02)  nYaomma
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JSNum™ Hepb pvawmn 1motR nowa *12w 0w 0130 XY "Num vt->

——— 129K _Yanwm

DOINURTE  PYM YW %M DI AR AWM LIAIX IDeN Y0 aww 1w (-3
X3 7270 TURBO € -2 .0*333R2 XX 111512 KY 2W291°2 DY D117 DY PURIDIRD
di-y si 097 "y 0 I XK int 310» DYINYD 2 WA P VWD 1YY
1°°¥ -7 naomy A1vea .B086-n 1To¥m bEMIPI WITIW NIMY ¥ .Tava
,register n9wwn b T 'Y 3R CINURD WMWY 1IIYR KIT DYINUL TSR
DYV O INTRI YV L NAAX L (YIWOR 3T RTUHI) AR INTRD WMt of
IR YANwmD ywnane (TWaveb IR int) ovpYRR
o7y SUB-7 nTipp vMy  yxpyv ohamemn Y3 xPw vy amovl avbiann
KT oon 72dY  .di -nv sio-7 YRR TRNWY [/ MInw nY1Ipd WD

b )
:on C Yv 3v¥pIp Y3 nyyame nYIONST MTipen
_myfunc PROC NEAR
push bp " bp wve
mov bp,sp """ bp Yy ye3¥n bp
sub sp,k o opi? oranwn now nR3PN
o *2pabn ovanemn mow Y1 Kk
2% vanom YY1 RV
push si
push di
NITIPET NI DR NYYIM K7 DRTIPT NCI0NY NIAY  O¥IT 3¥pIIDA WK
b
pop di DYIAIX 1ThYY
pop si

mov sp,bp o %py% avanwm nww MW

pop bp bp 11t

ret nR1Yp Nv3sanY anrn
_myfunc endp
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72 *%%3 2R3 nUR3 SMALL S7ema C nexpiyw Yo nesmemn nmdd 9307

800h naand
di {——— sp
si
asbpﬁg n°invn
. bp - offset
OLD bp {———— bp
oLD IP
v unD
) bp + offset
1000h nawno

sbombr 093302 DYYUNIBIR BYINUAR WIDH
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~ call_idl.asm x»3133 03203 tec -S av39-nmip

nv15 n Yyonepn  bapnmw shamoxn pavp 1w call _idl.asm
n1v¥pINt 'y call idl.c

tce -§ -r- call_idl.c

*Yamox paIpY  nU3o R AR 0and Y bEIpn DR TNIp =S Y¥DIRT WRD

13w 593 7773 “veomipnw exe-3 obj vxapb papma  (call_idl.asm)
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distnamo:BYTE:count'size)%_

??version ' [[,Lﬂ@_ y j l, LEm

name,dist, size, count ‘{
_ v ‘xj _add. c
Cé _S _...r i ﬂ'ec
name,dist, size,count

dist name[size] :BYTE:count

S '"call idl.c"
C E9857A13270A63616C6C5F6964312E63
C E90018521815433A5C54435C494FE434C5544455C737464696F2E68

C E90018521815433A5C54435C494E434C5544455C5F646566732E68
C E90018521815433A5C54435C494E434C5544455C5F6E756C6C2E68

byte public ’CODE’

_DATA, BSS
cs8: TEXT,ds:DGROUP
word public ‘DATA’

byte

word

word public ‘BSS’

byte
word

byte public 'CODE’

void main()

c8:_TEXT
near

bp

bp, sp
Bp, 10

int Num, Denom, Q, Rem, No_Zerc_Divide;

printf("\Enter Numerator, Denominator\n:");

ifndef
7debug macro
endm
Scomm  macro
T comm
endm
else
Scomm macro
comm
endm
endif
?debug
?debug
?debug
?debug
?debug
__TEXT segment
__TEXT ends
DGROUP group
assume
_DATA sagment
de label
deéw label
_DATA ends
_BSS segment
be label
béw label
_BSS ends
_ TEXT segment
7
7
H
assume
_main proc
push
mov
sub
7
: {
H
7
7
;

push
call
pPop

ax,offset DGROUP:s@

ax
near ptr _printf
CX
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scanf ("%d %d", &«Num, &Denom);

e W o

———Jlea —— -ax,word ptr [bp-4]
push ax
lea ax,word ptr [bp-2]
push ax ,
mov ax,offset DGROUP:s@+31
push ax
call near ptr _scanf
add sp, 6

-a

No_Zero Divide = idiv_mod(Num, Denom, &Q, &Rem);

e ‘wp

lea ax,word ptr [bp-8]
push ax
lea ax,word ptr [bp-6]
push ax

push word ptr [bp-4]
push word ptr [bp-2]

call near ptr _idiv_mod
add sp, 8
mov word ptr [bp-10]),ax

it (No_Zero_Divide)

e s 'wme

cmp word ptr [bp-10],0
je short €1@86

printf("\n %d div %d = %d, mod(%d,%d) = %d\n",

Num, Denocm, Q, Num, Denom, Rem);

N N N e W %

push word ptr ([(bp-8]
push word ptr [bp-4]
push word ptr [bp-21
push word ptr ([(bp-6]}
push word ptr [bp-4]
push word ptr (bp-2]

mov ax,offset DGROUP:s@+37
push ax

call near ptr _printf

add sp, 14

Jjmp - short @1@114



@1@e86:

else

————printf ("\nError: Zero Divide.\n");

o
e W2 Wy W

mov ax,of fset DGROUP:s@+72
push ax

call near ptr _printf

pop cxX

@l@el1i4:

} /* main */

e Wma Wy

mov sSp, bp
pop bp
ret

main endp
?debug C E9
_TEXT ends
DATA segment word public ’‘DATA’
s@ label byte
‘Enter Numerator, Denominator’
10
0
I%d %dl
0
10
7 %4 div %4 = %d, mod(%d,%d) = %4’
10
0
10
‘Error: Zero Divide.’
10
0

EEEEEEEEEEEEEE

_DATA ends
_TEXT segment byte public ‘CODE’
_TEXT ends

public main

extrn _idiv_mod:near

extrn _scanf :near

extrn _printf:near
_8@ equ s@

end



fibo4.asm X217 N*35INY 1RIRT

* " fibo4.c nv23 00 Yroprpn Yapnmw *vamoxm pavp 3vn fibod.asm
N1¥DIRA

tcc -S -r- fibod.c

*DI0R Y212 n353nR nR @xn? Yesnipn DR nan -S TY¥DIRA WRD
asEmIRn Laxon Y93 11732 abcemipw exe-y obj v33p% oyppa (fibod.asm)

MTIN23 Y7 ASYDAINT LTAR CInwm3  wmnen?  R? Ponipn IR anap -r-
.n*33nn naan by Spab »aws

LY ¥ DPIPN AN TYDNIPTN AWIB WINM MR WY KM v nTvpen

/ Bvanom ovomy TWwROw wUnpA? X1 T P93 11 xvn Y@ naatenn
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W 171309 K DI NYIPNBT TTXDIR R CIVONPT TP waern Loy C
I B2 1*U¥I OR LINTYD DRI 2% TP vIRHI NDDII NIawnnm

ARYIPT DR wsn? nap By wwaw Tpn YW

fibo(n-2)

vy Shanoxs YYw vandnn

mov ax,word ptr [bp+4]
sub ax,2

push ax

call near ptr fibo

AYIPIIBY  MRTPH  MIIRWA MW TSR NIIOPIW ARCPA 2060
XYY o¥y nYEpIIDT NAwRa® RYR MIDYNOARY 333 SM? Yran v .nhiyen
XN TR Yw vopua Y3 v1eh R3 RY AT YAK et yamww  nainob
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/* fibod.c - implement Fibonacci numbers
#include <stdio.h>
unsigned long int fibo(unsigned int n)

{ : : - .
unsigned long int x;

if (n <= 2 )
return 1lL;
else
x = fibo(n-1) + fibo(n-2);
return x;

void main()
{
unsigned int n;
printf ("Enter an integer:\n");
scanf ("%d", &n) ;

- naive recursion

printf ("Fibonacci(%u) = %lu\n", n, fibo(n));

E:\>fibo4.exe
Enter an integer:
9

Fibonacci(9) = 34

E:\>

/47
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__TEXT segnent byte public ‘CODE’
_TEXT ends
DGROUP grxroup _DATA,_BSS
agsume csB:_TEXT,ds:DGROUP
""DATA sagment word public ‘DATA’ -/é_
de labal byte ACc
déw label word
_DATA ends
_BSss sagment word public ’'BSS’
be label byte
béw label word
_BSS ands
_TEXT segment byte public ‘CODE’
¥
; unsigned long int fibo(unsigned int n)
;
agsume cg:_TEXT
fibo proc¢ near
push bp
nov bp, Bp
sub sp, 4
} {
; unsigned long int x;
;
: if (n <=2 )
cmp word ptx [bp+4l,2
ja short @1@142
: return 1L;
H
Xor dx, dx
mov ax, 1l
@1@86:
jmp short @1@198
jmp shoxrt @1@170
@1@142:
H
) else
; x = fibo(n-1) + fibo(n-2);
H
mov ax,word ptr [bp+4]
dec ax
push ax
call near ptr _fibo
pop cxX
push ax
push dx
mov ax,word ptr [bp+dl
sub ax,2
push ax
call near ptr _£fibo
pop cxX
pop bx
pop cx
add CX,ax
adc bx, dx
mov word ptr [bp-2],bx
mov word ptr [bp-4],cx
@1@170:

| 4§
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return x;

s % %a

mov dx,word ptr [bp-2]
T mov’ ax,word ptr [bp-4]
jmp short @1@86
@1e193 :
; }
mov sp,bp
pop bp
ret
_fibo endp

e

void main()

“a e

agsume cCs8:_TEXT

_main proc near
push bp
aov bp, sp
sub sp, 2

{
unsigned int n;
printf("Enter an integer:\n");

LU I T 1Y

“

mov ax,offset DGROUP:s@
push ax

call near ptr _printf
pop cx

scanf ("%d",&n) ;

. W W

lea ax,word ptr [bp-2]
push ax

mov ax,offset DGROUP:s@+19
push ax

call near ptr _scanf

pop cx

pop cx

printf{"Fibonacci (%u) = %lu\n", n, fibo(n));

e W W W

push word ptr [bp-2]
call near ptr _fibo

pPopP cx
push dax
push ax
push word ptr [bp-2]
mov ax,offset DGROUP:8@+22
push ax
call near ptr _printf
add sp, 8
H
; }
nov Bp.,bp
pop bp
rat

_main endp /[7!5]



__TEXT

?debug C E9

?debug
ends

C FA00000000

-——DATA——segment —word public ‘DATA’

s@

DATA
__TEXT
_TEXT

_ 8@

byte

‘Enter an integer:’
10

0

Igsdl

0

'Fibonacci(%u) = %lu’
10

0

byte public ’‘CODE’

_main

_fibo

_scanf inear
_printf:near
s@

)\

0



CALL nmipon Y@ nyTntsm NIRDIY)

11913 Aps® CALL  Sw avomm ven 2 v 3w CALL n7ipps oownon
XM ITH A0TA2 .ATIED Sy vraxmi label 1133 NI - TIP LIMADI  DR¥AIA
M) A aTIpan By ¥eaxab psay nk prawm [Py €S ok Ay ak IP-n
.CALL mvypon w 9n3*3 n¥I037 70920 198 Y1 L (NYI0ANI TR N3N0 NN
.N1DDY3 MIRDIYA BIT* DA

7 nx 2+¥0% X°n abw naymesn w3 16 Tk oy CALL Do noca npvvp
TTPER LkeA1? L IP and aaxn

CALL BX

JIP = BX nmwn 1*v» L, IP 7an% BX q3axn bw 7w nazny [P 9wmew? o

N3P0 WITID wInn - TBRY nioynont CALL a1 vy

Q10T homers YT npcpy  hisynon R CALL avapsn Y@ narovran N
bw n2awn>  KYX 71ypD 5w nawns XY xan CALL amipen v TivpaRa v apma
XYR CS:IP %w winm 7790 AR 72730 133°K 119072 hIINIT L AT TIpRI Lnanwm
no1vay NEAR noava w> CALL nTips v awm awb  .7vd owmn JIvn Rymy 12°n
TNIRIT NITTIANT DR A9Yan nvassn Sw DATA-n nuow nvaa ,xmanty LFAR

f ptrl DW 100h
f ptrz DD 20003000h

TTIPDT VIR

CALL f_ptrl

Saps IP, IP 5w *n>13n 7Ivn 1wow T2%1 TwR> NEAR 2tom mipynon? bivan
n7RDR L, nRY Ny (100h yava nx

CALL f ptr2

Yoy IP Sw Sw ooR513% 0¥y T 3% wx> FAR 31omn  nasynon®  oyan
.3000h v79n nx Yap~ IP -1 2000h tiwn nxk H3ps €S ,CS

N



AR AVIIAN NYTIPD DA DR

CALL WORD PTR [BP+6]
CALL DWORD PTR [BX-4]

.3°3p310% W31 XPIn C-3 3wy wwsn? wem CALL niiyps v fta 2o

709°3 'k .MOV f%vapon 1ipp® niprpy naRoaYA 03 @0 D37 DUIwnm1 L, 33K
.NIBPY NIDYNDT MITIPD W SaN L AYN 2wnnd T

.12RY 386

CALL nTippn Sw nppi1d miovea 386-3 wy 9oy nuavazma m1ippy moraz
.13 32 o'voena nIoPINN

29071 NYTIPE NP

CALL ECX

.EIP q1n% ECX Sw 7w nazmy EIP 1ipsw x°n nbw navmonimw

127 (7a%2 EIP »v1vw) w3 32 NEAR npepy nmioynon mympd  Jaws 13 M0
.FWORD & Full Pointer a'xp3 9x avanon  .wv3 48 mpspy nyvavnon
.DP & DF 71°manz oswenwm y1o57 Nowa  Qsanen  paTan?
2 niTIpn 386-3 MR Y3 DY
f ptrl DF 605040302010h

------

CALL f_ptrl

nazmy  EIP-3 CS noomwh oiaae
.EIP = 40302010h -y CS = 6050h



/* pf.c - Use pointer to function */

int sqr(int x)
{—

return x*x;
Y} /* sqr */

int neg(int =x)
{

return -x;
} /* neg */

void main()

{
int x,v, 2:

int (*fp) (int);

z = (*£p) (x);
printf("\nx = %d, y = %d, z = %d\n", X, ¥, z);

} /* main */

E:\>pf

-5

x =5, y =25, z

=

\>



